QAguga {TET N o g nag e o, b o
4dy+2x=D>
ghe?
@-s @-0 @3 @0 670
12x—ay=-2x+20 | |1ldx—ay=20 olch
dy+2x=b T loxrday=0 '
st s B g e = 0= Doy,
2 4 b
20
wabA g = —28, b = = o|BZ gbh = -80 ©|t}.




9

4

94

@ x=1,y=-12

-2, y=2

(@)le,y:—ll

X =

@ x=2y=3

-3

@ x:_lvy

x—y=12




-

8
§x—y:a ° mbESl 0] 7 o] 7}o
9 & W=k y o ghol x 9] 2t

y9l 901 <] 32l S ol =2 y = Syolet,
oA % WA Alo] dhelste] Hajaln

A= T

16x = —144, x = =9 °]|t},
wEbA x = -9, y = —45 A HA Ao tUSIH a = -4 0|t}




4. (a+b):(b+c):(c+a)=2:5:7°La+b+c=42Y o,
c—a-b 9 27

D 10 @ 12 ® 14 @18 ® 20

B ~
(@a+b): (b+c):(c+ta)=2:5:7°B2 a+b =2k,
b+ c =5k, c+a=Tk (k+0)2t o}Af,

ANl AS 25 H5HH 2(a+ b +c¢) = 14k, a+ b+ c = Tk°| B2
a=2k, b=0, ¢c = 5k,

a+b+c=420182 Tk =42, k =6,

W2t a =12, b =0, c = 30

“c—a—-b=18




S 0.2x + 0.1y = 0.7

D x=-2,y=3
@ x=2y=-3

® x=3y=2

B

. = EWHY
0.4 — 0.0y = 0.18
@)x=2,y=3
@ x=-2,y=-3
0.2x + 0.1y = 0.7 2x+y="7
0.x— 0.0y = 0.18 - L1,
KTy =0 9" 7907 T 90

2x+y="7 Q)
10x-y=17 ---©

O+©25tHx=2,y=3




ohE AU TESHE 10x+ 10y © G2

2 3

-2 =16
x=1 y+1
x—1 " y+1

@ -1 @ -2 C) -3 @ -4

1 1 )
=A, — B &1 5H
x-1 Y+ 1 =it st
24-3B=16 ---O
3A+5B=5 @)
Ox3-Ox2E535IH -19B =38
L B=-2
B=-2%5 Q4| thYstH 24 +6 = 16
A=
1
:5,x—1:1 .x:§
= -2, 1l=-= o y=-=
T+ y+ y B
10x + 10y = 12 + (-15) = -3




ALY A 4(x—2) =2x+ 2y -4 = 3x -3y + 18 9] =2

D x=6,y=38 (@)x:8,y26
® x=-6,y=38 @ x=6,y=-8

® x=-8,y=-6

B

4(x-2)=2x+2y-4 x-y=2 ..
=
2x +2y—4=3x-3y+18 -x+5y=22 -.-@
D+@E35H4y=24,y=6
y=62 @ o Y5 —x+30=122, x=38
Lx=8,y=6




0.3 -y=20.5
X+ 5y

@ 10 @ 11 @12 @ 13 ® 14

B i

0.ax+ 0.8y =2 =
y A ax + 8y = 20

i o
O.3x+3y=0.5 3x+2by =5
a 8 20 a 4

32 53 5 heTi2b=l




Qggga Y
3x+y=kx
A% k] gk
9 7 5
©3 @3 @)5

7k x =0, y =0 0|99 & 7t o,

x =0, y =0 °]2]°] 35 7HHTHe
=3} 2},

{x+2y=0 oA
B-kx+y=0

_— = = ‘k:_

1
3-k 1 7 2

AL d7} Bas




TS 3V g 20w 1o 4t

10. =4 2 +3y=1, — = 5
N5 F5H?
@o @ 1 ® 2
@ 3 5] gt

x+5 3-y
=—,2x+3y=1
5 1 X+ 3y
2x 43y =-1

- LS BAG RS £ 9] ke itk




